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20229 =& 1 8 JDIEESEAH &AM (&)
2Ok 22 - IBAY - SRAAS (3 H) Ol &k o J & oA HwE2 =28
S Al 81,585,740 80,214,406 1,371,334 1.71%
ALY 76,229,332 74,899,002 1,330,240 1.78%
HWegs 3,019,287 3,011,358 7,929 0.26%
A =2S 2,337,121 2,303,956 33,165 1.44%
getssdd 17,698,858 17,697,508 1,350 0.01%
Ha -=8 11,358 11,358 0 0.00%
Hegs(Fasx) 11,358 11,358 0 0.00%
BENE(A2S0HIISSE3AH) 11,358 11,358 0 0.00%
ety 17,687,500 17,686, 150 1,350 0.01%
ZEAHE 17,687,500 17,686, 150 1,350 0.01%
DEMAEY NA(FAHHSEIA)(EAHE 17,687,500 17,686, 150 1,350 0.01%
Sg3lH)
3 60,629,588 59,290,639 1,338,949 2.26%
Hot+Z - =2 42,859,270 42,625,658 233,612 0.55%
o= 2e| 27,465,955 27,152,478 313,477 1.15%
AT ANE EX(4=ESE35H) 22,750,500 22,253,000 497,500 2.24%
AT AE 2o (d-TSEE3H) 4,715,455 4,899,478 N 184,023 N 3.76%
St=% 2tel 15,385,386 156,473,180 AB7,794 N0.57%
St=2AEH 2 SA(BFIZASEELIIAH) 3,682,500 3,629,000 53,500 1.47%
sSHENSSH=ZHU (B HIIZAEEESH) 5,697,000 5,697,000 0 0.00%
BHIIEZANE 22l - 2 (BZINZAMLEELES 6,005,886 6,147,180 N 141,294 A2.30%
Al
Hees(sgdsaad) 1,219 0 1,219 =3
SBENES(4=ESEIA)(4=5E3H) 1,219 0 1,219 =35
Heaes(sgsaad) 6,710 0 6,710 =3
SHNE(BZIEZANLEELESA) 6,710 0 6,710 =5
HOI= 17,770,318 16,664,981 1,105,337 6.63%
HOIES A& s 14,770,318 13,664,981 1,105,337 8.09%
HA MY (BAIZANLESLESA) 2,579,722 2,083,162 496,560 23.84%
HIl2 MelAld 2S(83IN=ANESE3A) 12,190,596 11,581,819 608,777 5.26%
Hees(sgdsaad) 3,000,000 3,000,000 0 0.00%
UWEAHAHXIES(SZIZAIESS3) 3,000,000 3,000,000 0 0.00%
ALl = Xl 690,473 690,473 0 0.00%
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20l 22 - BHALY - SSIA(31) of & o ol & o 52
zus
IZMEEH 690,473 690,473 0 0.00%
S0 ZMEEE 690,473 690,473 0 0.00%
HASSE a2 XA ( =] 690,473 690,473 0 0.00%
MY - SAIHLUH X 229,700 229,700 0 0.00%
Ol 4 KIS RHRI O & 229,700 229,700 0 0.00%
XX S 82X 229,700 229,700 0 0.00%
EAFHIY NEAML(EHLAFHX S 229,700 229,700 0 0.00%
EEEEE)

ol 51 bl 0 2,130 22,130 =&
oll Bl gl 0 2,130 22,130 =&
ol 51 bl 0 1,350 A 1,350 =&
GlHIBI (EALA S 0 1,350 A 1,350 =
ol 51 bl 0 780 A 780 =&
ololbl(a+c s 0 540 A 540 =
olglbl (2H& I = A 0 240 A 240 =&
JIEF 2,337,121 2,303,956 33,165 1.44%
JIEt 2,337,121 2,303,956 33,165 1.44%
HY2IHH (& 2,283,928 2,250,763 33,165 1.47%
ol 2y (2 2,283,928 2,250,763 33,165 1.47%
HY2IHL (F2 53,193 53,193 0 0.00%
oYYl (2= 53,193 53,193 0 0.00%




